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DAILY BASIS ASSIGNMENT 24

Date:16.05.2020 Class: VII Day: SATURDAY

Subject : English

These phrases have been picked up from ‘The Festival of Id’ . Pick the phrase which
does not confirm to the chapter.

1. a) covered with carpets
b) hundreds of people
¢) down to the earth
d) strung with wooden tigers

2. a)in a khaki uniform
b) on dusty roads
¢) made of plastic
d) in a black gown

3. a) on his shoulders
b) struts up angrily
¢) reduce to dust
d) far superior

4. a) lion - hearted warrior
b) anxious to handle
¢) break into pieces
d) with a banana leaf

5. a)a gust of wind
b) hungry and thirsty
¢) for his cleverness
d) in injured tones

( Try to frame sentences using these phrases. )

SUBJECT - PHYSICS
MULTIPLE CHOICE QUESTION ( Select the right option):--

1. Formation of day and night is an example of motion.

a) rectilinear b) circular c) rotational d) periodic



2.0ne of the following types of motion will not be exhibited by the moon moving around the
earth .This motion is

a) rectilinear b) periodic c) rotational d) circular

3. A bicycle is moving on a straight road. Which of the following types of motion is exhibited
by it ?

A) rectilinear B) periodic C) rotational D) circular
a)AandB b)BandC c)Band D d) A and C

4. Which of the following types of motion are possessed by a merry-go-round . At the same
time ?

A) rectilinear B) periodic C) rotational D) circular
a)Aand B b)BandC c)Cand D d) A and C

5. A communication satellite is stationed in an orbit high above the earth .Which of the
following will not be exhibited by this communication satellite?

A) rectilinear B) periodic C) rotational D) circular
a)AandB b)BandC c)Cand D d) A and C
SUBJECT : CHEMISTRY

MULTIPLE CHOICE QUESTION

. The salts formed by the neutralisation of weak acids with strong bases are
. Basic salts

. Acidic salts

. Neutral salts

.Bothaandb

. Which of the following is an example of carbonates?
NaCL

. Na2CO3

KNO3

. All of these

. Which of the following is safe to drink?

. Sodium hydroxide

. Potassium hydroxide

Magnesium hydroxide

. All of these

.NaOH +H2S04 — +

.NaCL & H20

.KNO3 & H20

c¢. NH4CL & H20
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d. Na2S04 & H20

5. Which of the following acid is used in fizzy soft drinks and soda water?
a. Carbonic acid

b. Oxalic acid

c. Formic acid

d. Nitric acid

SUBJECT: BIOLOGY
Multiple Choice questions

1. Digestion of food in humans begins in the
a) Stomach
b) Mouth
c) Small intestine
d) Large intestine

2. Which of the following deals with the study of teeth?
a) Dentistry
b) Dermatology
c¢) Neurology
d) Cardiology
3. Which of the following helps in digestion in amoeba?
a) Pseudopodia
b) Cytoplasm
c) Nucleus
d) Food vacuole
4. Which of the following is the characteristic feature of pseudopodia?
a) Long tube like structure coming out of mouth
b) False feet developed in some unicellular organism
c) Suckers attached to the walls of intestine
d) All of the above
5. Which of the following substance is not absorbed by intestine as such?
a) Amino acids
b) Glucose
c) Starch
d) Glycerol



SUBJECT-SST

Q. Multiple choice questions

1. Samantas were

a. Big landlords b. Small landlords c. Farmers d. Landless labours

2. The directly governed regions of the chola Kingdom was divided into district known as
a. Nadus b. Natlas c. Mahasabhas d. Nagarata

3. Pala dynasty was founded by

a. King gopala b. King dharam Pala c. King Deva Pala d. King lakshman
4. The most famous ruler of the Chauhan dynasty was

a. Dantidurga b. Prithviraj Chauhan c. Gopala d. Mihir bhoja

5. He was the last ruler of the rashtrakuta dynasty.

a. Karka -II b. Rajyapala c. Mihir bhoja d. Vatsaraja

SUBJECT - COMPUTER*

Q. Multiple choice questions (Select the correct one):-

26 How many users can access a share folder simultaneously from a Windows XP
machine?

A. 8 B. 9 C. 10 D. Unlimited

27. Which key combination is used to close an open application in Windows machine?
A. Alt+F8 B. CTRL+X C. Alt+F4 D. Shift+P

28. Total number of function keys in a computer keyboard?

A.10B.12C. 14 D. 16

29. Which one is the latest release of Windows Client Operating System?

A. Windows XP B. Windows 7 C. Windows 8§ D. Windows 10

30. Which function key needs to be press during reboot to enter in Safe Mode of a
Windows machine?

A.F8B.F2C.F1D. F9



DBA-
1)
2)
3)
4)

5)

STD-7 SUB- MATHS DATE- 16.5.2020

1.008 =7

a) 1b) 1——c)1—d) 1
2Kg 5g =7

a) 2.5kg b)2.05kg c) 2.005kg d) 2.0005kg
0.012+0.15="

a) 0.8b)0.08 c)0.008d)8
1.1x0.1x0.01="

a) 0.11b)0.011c)0.0011d) 11
What should be added to 2.06 to get 3.1 ?

a) 1.4b)1.24c)1.04d)10.4

4
125



gfafesr Aaas T - 6
HeT - FId feeT - afaar
v - depd fe=tieh - 16/05/2020
At few v fashedl & WEY 3R YA Tord -
(1) ‘g T 3TAROT TATHA FIT § ?
() F& (@) dTe (1) FqT (71) 35
(2) G=cg:aotT § -
@ET @3 @@
(3) 25 T HEpd H gar & .
(%) g=afaer: (@) g=afaefa: (a1) fGefdusa (@) e
4 19FMAEHTIH BT d .
(%) oTdCRN (W) oIdIGer (M) «Id (&) SRM=Id
(5) 9 & T&pd H glaT © .
(&) a1l (@) 9 (1) AGH (&) aT:




